() Husqvama

SVARTPILEN 401 2018 <2018><EU><F2303R2>

ACCESSORY PACK
49846
OHNE ABBILDUNG
WITHOUT ILLUSTRATION
TECHNISCHE DOKUMENTATION
TECHNICAL DOCUMENTATION
DOCUMENTACION TECNICA
DOCUMENTATION TECHNIQUE
NOTE TECNICHE
Pos Part Number Description Additional Text Quantity
0 HQVO0051E HQV OSP folder 2018 1.00
0 80312002000 DOCUMENTS BAG HUSQVARNA 1.00
0 58412040100 Rear view mirror, left/right 1.00
0 28512040000 Rear view mirror, right 1.00
0 58412080400 Rear reflector red 1.00
0 60408061050 RUBBER 14X6.5X2.3MM 2.00
0 60408061060 LOCK WASHER D5 2.00
0 28529099000 Tool set 1.00
0 60012081200 license plate mouning plate FOR AUS ONLY 1.00
0 HQV0110 Pen 1.00



0 HQV170045INT Notepad 1.00
0 00063004202 PRINT LABEL 60X51 MM 1.00
0 0024060136 HH collar screw M6x13 TX30 6.00
0 0985060003 Self lock. nut DIN985-M6-A2 2.00
0 28512010000 Passenger grip 1.00
0 0025080306 HH collar screw M8x30 4.00
0 0021060003 Washer DIN9021-A 6.4 ONLY USA 2.00
0 83008000012 special screw M6x12x3 2.00
0 54603048700 Range change metal nut M6 2.00
0 28008020000 Front spoiler 1.00
0 28008020010 Front Bellypan Holder 1.00
0 28008020015 rear bellypan holder 1.00
0 69008021160 special screw M5x12 2.00
0 50232050000 WASHER 6,2X18X2 125 2.00
0 0025060166 HH collar screw M6x16 TX30 4.00
0 83008000015 SPECIAL SCREW M6X15X3 2.00
0 HQVO0052E HQV PG&A Street Folder 1.00
1 3402208EN Owner's Manual Svartpilen 401 1.00




